SYSTEMY TRANSPORTOWE - ZESTAWIENIE DANYCH

Nr Nr zestawienia danych

linii 1 2 3 4 5 6 7 8 9 10 [11 J12 13 [ 14 15
1 5 10 |75 |6 12
2 6 12 |6 12 |10
3 12 |10 |75 [20 |10 [75 |15 15 |10 75
4 15 |20 [10 [15 |20 15 [10 |20 |15 10
5 5 75 |10 |6 75
6 Czgstotli [ 20 [ 30 [30 |5 10 30 |5 10 |75 20
7 wos¢ 10 [12 |15 [20 |75
8 [co ile 15 |20 |10 |15 | 20

minut]

9 5 6 75 |15 |15 [30 |20 15 |10 6
10 30 [20 |15 [10 |6 5 10 [75 |6 12
Nosnosé podtoza G2 | G3 | G4 [ G4 | G3 | G2 | G3 | G4 | G2 | G3 | G2 | G2 | G4 G2 G4

Kategoria ruchu KR4 | KR5 | KR6 | KR4 | KR5 | KR6 | KR4 | KR5 | KR6 | KR4 | KR5 | KR6 | KR4 | KR5 KR6
Klasa ulicy wzdluz | GP | GP G G z GP | G G Z GP | GP G G Z GP
linii 1 202 | 23 | 22 | 23 |22 | 23 | 22 | 23 | 22 | 203 | 213 | 212 | 23 212 213
Klasa ulicy wzdluz | GP G Z Z z G | GP | G | GP G Z Z Z GP G
linii 3 23 | 22 | 12 | 42 | 12 | 22 | 23 | 22 | 23 | 22 | 212 | 12 | 212 213 212
Kat skrzyzowania
ulicli3 o=[..°] [80 |8 |90 |9 |100 |8 |8 |90 |95 |100 |8 |8 |9 |95 100
Nr Nr zestawienia danych
linii 16 [17 [18 J19 J20 [21 J22 [23 [24 [25 [26 J27 [28 [29 30
1 10 [30 [20 |66 5
2 20 [20 [30 |5 7.5 10 [15 |20 |10 10
3 10 |75 [15 [20 |75
4 15 [12 [75 [75 |20 [30 |20 12 |15 20
5 10 [10 [75 |6 30
6 Czestotli 20 |5 12 [10 [10 [12 |10 [75 |75 12
7 wos¢ 75 [15 |75 |12 |12
8 [coile 55 —T20 [6 |12 |6 75 |12 |5 |20 5
minut]
9 12 |20 |5 20 [75 |5 5 30 |6 75
10 15 |75 |10 [75 |20
Nosnosé podtoza G3 | G4 | G2 | G3 | G4 | G2 | G2 | G3 | Ga | G2 | G2 | G3 | G4 G3 G4
Kategoria ruchu KR6 | KR6 | KR4 | KR6 | KR5 | KR6 | KR4 | KR5 | KR5 | KR6 | KRS | KR4 | KR6 | KR5 | KR4
Klasa ulicy wzdluz | GP Z G | GP z GP | GP | G G G | GP G GP GP G
linii 1 23 | 22 |22 | 23 |22 | 202 | 22 | 202 | 22 | 23 | 23| 212 | 23 202 202
Klasa ulicy wzdtuz G G Z G GP | G | GP | GP Z GP G | GP Z G GP
linii 3 22 | 22 | 12 | 22 |22 | 202 | 23 | 202 | 212 | 22 | 212 | 22 | 12 213 213
Kat skrzyzowania
ulicli3 a=[..°] |90 |100 |8 |90 |100 |8 |95 |95 |9 |95 [100 |85 100 | 90 85
Nr Nr zestawienia danych
linii 31 [32 [33 [34 [3 [3 [37 [3 [39 [40 [41 [42 [43 [44 45
1 5 10 |75 |6 5
2 6 12 |6 12 |10
3 12 |10 [75 [15 |125]75 |15 |75 |10 75
4 75 |20 |10 [20 |20 5 5 30 |15 20
5 15 |75 [10 |6 75
6 Czestoti [ 20 [ 30 |20 |75 |10 20 |5 10 |5 10
7 wos¢ 12 |75 [10 [15 |75
8 r[7(1:|cr)1 LIJItFi 20 |75 |10 |10 |30
9 5 5 75 [ 20 |5 30 [30 |20 |20 6
10 30 |15 |12 [12 |12 6 75 |5 75 5
Nosno$¢ podtoza G3 | G4 | G3 | G4 | G2 | G3 | G4 | G | G2 | G4 | G3 | G2 | G4 G3 G3
Kategoria ruchu KR6 | KR5 | KR4 | KR5 | KR5 | KR4 | KR6 | KR5 | KR4 | KR6 | KR5 | KR4 | KR6 | KRS | KR4
Klasa ulicy wzdluz | GP | GP | GP G GP | G z G Z G G | GP | GP Z GP
linii 1 22 | 23 | 212 | 23 |22 | 23 | 22 | 23 | 22 | 203 | 213 | 212 | 22 112 212
Klasa ulicy wzdtuz G Z Z G z G | GP | GP G G Z Z z G G
linii 3 23 | 22 | 12 |22 | 12 |22 | 23 | 22 | 23 | 22 | 22 | 12 | 212 212 212
Kat skrzyzowania
ulicli3 a=[..°] [8 |95 |90 |100 |90 |8 |8 |95 |9 |95 |8 |9 |90 |9 80




